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NEW QUESTION 1
How many cycles are in 10Hz?

A. 1
B. 5
C. 10
D. 20

Answer: C

NEW QUESTION 2
Which of the following is a floor serving space that serves as a point of termination for horizontal and backbone cables?

A. EF
B. TR
C. ER
D. Work area

Answer: B

NEW QUESTION 3
Which of the following makes the biggest impression on a customer when you are communicating via email?

A. Choice of words
B. Body language
C. Tone of voice

Answer: A

NEW QUESTION 4
Which of the following is permissible if the available firestop assembly is NOT capable of properly restoring the necessary fire rating?

A. Substitute products from another assembly
B. Add more of the product to increase the rating
C. Obtain written assistance from the manufacturer
D. Move the installation to another location

Answer: C

NEW QUESTION 5
What is the primary purpose of firestopping?

A. Increase a facilities ability to detect fires
B. Reestablish the barrier's fire rating
C. Restore the barrier's original load-bearing capacity
D. Suppress fires before they can spread

Answer: B

NEW QUESTION 6
Electrical power (P) is measured in _____?

A. Ohms
B. Farads
C. henries
D. Watts

Answer: D

NEW QUESTION 7
What is the recommended minimum amount of aisle space between and around equipment?

A. 0.6 m (2')
B. 1 m (3.3')
C. 1.2 m (4')
D. 1.52 m (5')

Answer: B

NEW QUESTION 8
Fall protection is required whenever a person is exposed to a fall hazard more than ____?

A. 1.2 m (4')
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B. 1.83 m (6')
C. 2.4 m (8')
D. 3 m (10')

Answer: B

NEW QUESTION 9
Which of the following tend to cause sheath damage during cable pulling?

A. FMC/FMT
B. RMC/IMC
C. EMT/ENT

Answer: A

NEW QUESTION 10
Which of the following refers to a set of rules issued by a governmental body at the state level within the US?

A. Regulations
B. Best Practices
C. Applications
D. Guidelines

Answer: A

NEW QUESTION 10
Which of the refers to a rule or set of rules intended to endure safety during the installation and use of materials, components, fixtures, systems, premises and
related subjects?

A. Standard
B. Directive
C. Code
D. Regulation

Answer: C

NEW QUESTION 12
What is the recommended thickness for plywood that will be mounted on the walls of a telecommunications room?

A. 12.7 mm (1/2")
B. 19 mm (3/4")
C. 25 mm (1")
D. 32 mm (1-1/4")

Answer: B

NEW QUESTION 16
Which of the following fire ratings refers to the time period that a fire-rated assembly can resist flame passage?

A. L rating
B. F rating
C. W rating
D. T rating

Answer: B

NEW QUESTION 18
Which of the following markings is used for non-conductive optical fiber general-purpose cables?

A. OFNG
B. OFCR
C. OFCP
D. OFNP

Answer: A

NEW QUESTION 23
What is the specified performance level for Category 8 cable?

A. 100 MHz
B. 250 MHz
C. 1000 MHz
D. 2000 MHz

Answer: D
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NEW QUESTION 24
What type of connector is used with ribbon cable?

A. F Connector
B. N Connector
C. Array
D. MPO

Answer: C

NEW QUESTION 25
Which type of cabling is installed between a main cross connect and a horizontal cross connect?

A. Second-level backbone
B. First-level backbone
C. Horizontal

Answer: B

NEW QUESTION 26
The information transmitted by an ICT system can originate in two fundamental forms:

A. Synchronous and asynchronous
B. Light and sound
C. Progressive and regressive
D. Analog and digital

Answer: D

NEW QUESTION 31
Which is a keyed, contact, moderate loss connector in present use today that is pull & wiggle-proof?

A. Opti-Jack
B. SMA 906
C. Subscriber Connector (SC)
D. Straight Tip (ST)

Answer: D

NEW QUESTION 32
Which of the following steps should be performed first when an installer is pulling optical fiber cable?

A. Install and secure innerduct
B. Ensure the cable has been tested and accepted
C. Label cables
D. Attach pull rope

Answer: B

NEW QUESTION 37
What is the primary purpose of the telecommunications bonding infrastructure?

A. Equalize potentials between metallic surfaces and equipment within entrance facilities
B. Improve the performance of the installed telecommunications equipment
C. Provide backup power to the telecommunications equipment when primary power to the equipment fails.

Answer: A

NEW QUESTION 42
What type of coaxial cable is used for video backbone distribution?

A. Series 6
B. Series 11
C. RG 59
D. RG 58

Answer: B

NEW QUESTION 43
What grade of plywood is recommended for use with ICT systems?

A. A/C
B. A/D
C. C/D
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D. B/C

Answer: A

NEW QUESTION 46
Which of the following tools is a low-cost cable verifier that can be used to test for opens, shorts, crossed pairs, and miswires in 4- pair cables?

A. Wire map tester
B. Qualification tester
C. Telephone test set
D. TDR

Answer: A

NEW QUESTION 51
Which of the following make the biggest impression on a customer during face-to-face conversation?

A. Choice of words
B. Tone of voice
C. Body language

Answer: C

NEW QUESTION 54
Which type of cabling is installed between a main cross-connect (campus distributor) and an intermediate cross-connect (building distributor)?

A. First-level backbone
B. Second-level backbone
C. Horizontal

Answer: A

NEW QUESTION 58
How long does it take someone to form a first impression?

A. 10 to 15 seconds
B. 1 to 2 minutes
C. 5 to 10 minutes
D. 30 minutes to 1 hour

Answer: A

NEW QUESTION 60
Which of the following may provide a demarcation point between the service provider and the customer premises cabling?

A. Telecommunications room
B. Work area
C. Telecommunications enclosure
D. Entrance facility

Answer: D

NEW QUESTION 64
How much sheath of the cable needs to be removed in order to properly terminate an 8P8C?

A. 6.3mm (0.25")
B. 12.7mm (0.5")
C. 25mm (1")
D. 38 mm (1.5")

Answer: B

NEW QUESTION 65
......
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